PLANETARY GEAR BOX

ZB/ZBR/ZE/HDZ %l
SEETEIRIEN

< MATIR



< MATIE

;é : zm&‘yedzk . s‘ ‘5 4 .ﬁa “‘t 5 5‘ Eéf{‘ ,,1‘

TIRPRDESENRDBIRATIMIZT 2006588 , B—REEVIIK. HUFEN. BB RIRSAIHAL.
&, HE. RETHHNERKEESFRAEY, CIREEEFAE2R , D2F2K , AT1400A , SittEH
1008 ; 2017488 29HERAZATHIMRAR L ( BREMTS002896 ) ,

FEFREHEERERREEN. MERSRERRIEREN. NERRERRIRE. TRRES. BERE%
FHeimiRes. BEHEESE. ESsSREERITWARET , "HNIHE" tmE1R , EFI871 , HEMIE
REVHEFD , ESFREOAES "WIBBETR" . "TUREFESR" | (TERESEERRFERAES
INES "BRESFTE .

Ningbo Zhongda Leader Intelligent Transmission Co., Ltd (ZD-Motor) was established in 2006, which is a national high-tech
enterprise, specialized in motor drivers, micro motors, precision gearboxes, and integrated the R&D, manufacturing, marketing,
service. The company has 2 wholly-owned subsidiaries, 2 branches and 1400 employees, covering an area of 66,666 square meters.
The company went public on the Shenzhen Stock Exchange SME board (Ticker symbol 002896) on 29th August 2017.

The main products are micro DC gearmotor, micro AC gearmotor, small AC gearmotor, planetary reducer, precision cycloid
reducer, motor controller and so on. ZD-motor is leading and participating in the drafting of 6 national and industry standards, gets 1
standard of “Zhejiang Manufacturing”, and 87 patents; equipped the Zhejiang provincial enterprise R&D center. The mainly products
were identified as “Zhejiang Famous Brand Products” and “Industry Quality Credible Products”. The planetary reducer was recognized
by the Ministry of Science and Technology as a “National Key New Product”.



ZBERFURLE
/B SERIES GEAR BOX

M iR E Sectional Drawing

@ #uHH%H Output shaft

@ jHET Oil seal

@ HiH4HAETiHA Output shaft front bearing
@ 1TE%L Planetary gear

® K% Solar wheel

® i#EHHE Full needle bearing

@ BiZ= Front cover

iSHAM/S M7 Output shaft rear bearing
© iHES Oil seal

® BX$ES Coupling

@ BHEFR Lock ring

@ 52 Rear cover

B =55 . HYEHRIRIEAB Type And Model Number

ZBiiH| ZB Reducers \

090 ZB 20 () (S1) - 750 [
©» @ ©® @ 6 ® @

P03

{EIAREEAL Servo Motor

@  RIENAEES: 090 E{RIIP04 Gear head frame size: 090, (P04)
@ BENZRIKE: 28 Gear head series code: ZB
@ RaELL: 20 BRIP4 Gear ratio: Single stage 20, (P04)
@ ¥EE BfkIPos Amount of backlash, (P04)
TERIP2(EER) FBEEIP SREEEIP0 Standard type P2 (Omission), precision P1, high precision PO
AR EARF AR + 5% HE Precision (The load of output shaft is +5% of allowable output torque)
® NGRS Input shaft type

S1: B R BR (B
(RICDREEHEREIEEAER , (B0 FEARER)

S2: HIRIEBE AN R)

A: HthEECSR (B 5 A N FBRR)

S1: Locking with locking ring (Omission)

(Regardless whether the motor with keyway can use it. But “D” cut can't use)

S2: Locking with keyway (Input shaft with key)
A: Other type (Please contact with us)

©® ERFERSIXIIERW) Applicable servo motor power (W)
@ (AREAELS Model of servo motor




LG
PRODUCT SPECIFICATIONS

I REE 8% Reducer Performance Data

& RE VERELRd
Specifications Node Number | Redustion Ratio | 080ZB | 0B0(A)ZB | 090ZB | 090(A)ZB | 11528 14278 180ZB 220ZB
3 55 - 130 = 208 342 588 1140
50 - 140 - 290 542 1050 1700
5 60 = 160 = 330 650 1200 2000
: 6 55 - 150 - 310 600 1100 1900
7 50 - 140 - 300 550 1100 1800
8 45 - 120 - 260 500 1000 1600
9 40 5 100 = 230 450 900 1500
10 40 - 100 - 230 450 900 1500
15 55 55 130 130 208 342 588 1140
20 50 50 140 140 290 542 1050 1700
BERH IR T, Nm 25 60 60 160 160 330 650 1200 2000
30 55 55 150 150 310 600 1100 1900
35 50 50 140 140 300 550 1100 1800
40 45 45 120 120 260 500 1000 1600
2 45 40 40 100 100 230 450 900 1500
50 60 60 160 160 330 650 1200 2000
60 55 55 150 150 310 600 1100 1900
70 50 50 140 140 300 550 1100 1800
80 45 45 120 120 260 500 1000 1600
90 40 40 100 100 230 450 900 1500
100 40 40 100 100 230 450 900 1500
2EmEET,, Nm 1,2 3~100 MfEFEERI e
BIEBNFRIE n,, rpm 1,2 3~100 5000 5000 4000 4000 4000 3000 3000 2000
BABINES®E N, pm 1,2 3~100 10000 10000 8000 8000 8000 6000 6000 4000
o . 1 3~10 - = = - <1 <1 <1 <1
EIBEERZBE PO | arcmin 2 15~100 = - = - <3 <3 <3 <3
P . 1 3~10 <3 - <3 - <3 <3 <3 <3
FEEEHRIRE P1 arcmin 2 15-100 - <5 <5 <5 <5 <5 <5 <5
IPAERE P2 | aromin 7 TN S A S
RN Nm/arcmin 1,2 3~100 7 7 14 14 25 50 145 225
BUREA F, N 1,2 3~100 1530 1530 3250 3250 6700 9400 14500 50000
YA Fyy N 1,2 3~100 765 765 1625 1625 3350 4700 7250 25000
ERE® hr 1,2 3~100 20000*
. o 1 3~10 297%
BE N % 2 15~100 >94%
— =R K 1 3~10 13 [ - ] 31 [ - ] 18 [ 145 | 29 [ 48
P04 = g 2 15~100 15 | 19 | 41 | 53 | 9 | 175 | 33 | 60
ERERE °C 1,2 3~100 -10°C~+90°C
s 1,2 3~100 ERkiEE R
PP 1,2 3~100 1P65
ZEHH 1,2 3~100 FEARA
=i,
I(]ff%gﬁﬁ%]ﬁiﬁ) dB(A) 1,2 3~100 <58 ‘ <60 ‘ <60 ‘ <63 ‘ <63 ‘ <65 ‘ <67 ‘ <70
B RENEEEN IR E Moment Of Inertia Of The Reducer
& RE BIELL
Specifications Node Number | Redustion Ratio | 080ZB | 0BO(A)ZB | 090ZB | 090(A)ZB | 11528 14278 180ZB 220ZB
3 0.16 = 0.61 - 3.25 9.21 28.98 69.61
4 0.14 - 0.48 - 2.74 7.54 23.67 54.37
5 0.13 - 0.47 - 2.71 7.42 23.29 53.27
: 6 0.13 - 0.45 - 2.65 1.25 22.75 51.72
7 0.13 5 0.45 = 2.62 7.14 22.48 50.97
8 0.13 - 0.44 - 2.58 7.07 22.59 50.84
9 0.13 = 0.44 = 2.57 7.04 22.53 50.63
10 0.13 - 0.44 - 257 7.03 22.51 50.56
15 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
20 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
BRE J, Kg-cm’ 25 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
30 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
35 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
40 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
50 0.03 0.13 0.13 0.44 0.44 2.57 7.03 2251
60 0.03 0.13 0.13 0.44 0.44 257 7.03 2251
70 0.03 0.13 0.13 0.44 0.44 2.57 7.03 2251
80 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
90 0.03 0.13 0.13 0.44 0.44 2.57 7.03 2251
100 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51

TR (i=N,/N,,)
“ESIEE: , (EF%A5/910000hrs

2B AR SIIET,,=60% 0f T,10r 3R 00rpmaT , (EATFHHETFOME.



R (8%, /miELL i=3~10)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B R <F'E& Dimensional Drawing

EH Output 9 I Input
c8 L8 12
K my]
005 B 7 13

) 1 m L4
& -5 _ | L6

8 8 2le

0 o™ o™ (S

sl & 855
g

6 _|]
ca
2
S D53%(depth)L9
i
H1
Il R <J% Dimensional Table [ ZUnit: mm]
R}Size 060ZB 090ZB 11528 14228 1808 2207B

D1 70 100 130 165 215 250
D2 55 6.6 9 1 13 17
D31 16 22 32 40 55 75
D4 s 50 80 110 130 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 292 T
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 35.5 51 79 82 105
L5 25 32 40 70 70 90
L6 2 2 5 4 6 7
L7 6 8 10 15 20 25
L8 65.5 78 101.5 119.5 154 163.5
L9 125 19 28 36 42 42
c1 70 100 130 165 215 235
c2 M5x0.8P M6 1P M8x1.25P M10x1.5P M12x1.75P M12x1.75P
c3 *<14/<16 <19/<24 <32 <35/<38 <42/<48 <55
ca 35 405 51 60 85 116
€5 50 80 110 130 180 200
c6 8 4 5 6 6 6
c7 60 90 115 142 190 220
c8 195 175 20 225 29 63
c9 122 1435 186.5 239 288 364.5
B1 1o 5 6 10 12 16 20
H1 18 245 35 43 59 795

*060ZB 5,10 jHIRELIRHCI< 167 1%,



R~ (B4, miELL i=15~100)
DIMENSIONS (DOUBLR, REDUCTION RATIO i=15~100)

B R <FE& Dimensional Drawing
co

5 Output e s 02 BN Input
Lt . 13
0c7
L4
—— i L5 L6 —— o
28 H )
88 56 Q
| [ | : $
cé H 4-C2 o1
c4 !
co 060AZB/090AZB
C8 L8 L2
13 mG
% D53%(depth)L9 i (T o, X\ -
% a8f - ‘ lﬁ ) @
H1 ger M &5 Q
[©
| 1 0 ‘s) /8
A= ' Tz ot
Il R <J % Dimensional Table [ ZUnit: mm]
R~FSize 060AZB 0908 090AZB 11528 14278 180ZB 22028
D1 70 100 130 165 215 250
D2 5.5 6.6 9 1 13 17
D3 16 2 32 40 55 75
D4« 50 80 110 130 160 180
D5 M5 x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
? D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 102.5 116 126 143 160.5 207.5 246
L9 125 19 28 36 ) )
cl 70 70 100 100 130 165 215
c2 M5x0.8P M5x0.8P M6x 1P M6 x 1P M8x1.25P M10x1.5P M12x1.75P
c3 <14/<16 <14/<15.875/<16 <19/<24 <19/<24 <32 <35/<38 <42/<48
ca 35 35 405 40 50 60 85
C5 e 50 50 80 80 110 130 180
C6 8 8 4 4 5 6 6
c7 60 60 90 90 115 142 190
c8 19.5 19.5 17.5 17.5 125 225 29
c9 159 183.5 1915 225.5 283.5 335 409
Bl 5 6 10 12 16 20
H1 18 2.5 35 03 59 795




ZBRESUREHN -7 milts
/BR SERIES GEAR BOX - PRODUCT SPECIFICATIONS

M iR E Sectional Drawing

@ #uHH%H Output shaft

@ jHET Oil seal

@ HiH4HAETiRA Output shaft front bearing
@ 1724 Planetary gear

® AKPFHE Solar wheel

® A5 Front cover

@ HihfSim& Output shaft rear bearing
VITSIERF Adjusting nut

@ W5\ FaiEfmdmA Double row angular contact bearing
© #HHHEREE Output bevel gear

@ EfAFAUK Right angle box

@ BINHESE Input bevel gear

®@ BRZE Lock nut

@ HINEXIHES Input coupling

© $1{£28 Locking device

@® f5== Rear cover

@ 535 Rear cover gasket

B REEMN T EEEEL Reducer Performance Data

g RE ERERd
Specifications Node Number Reduction Ratio WGP 090ZBR kst 1422BR 180ZBR
3 36 90 195 342 588
4 48 120 260 520 1040
5 60 150 325 650 1200
6 55 150 310 600 1100
~ 7 50 140 300 550 1100
AR Ty Nm ! 8 45 120 260 500 1000 —
9 40 100 230 450 900 P07
10 40 100 230 450 900
14 42 140 300 550 1100
20 40 100 230 450 900
BB T,y Nm 1 3~200 SRR e
EUESN\EREE n,, rpm 1 3~200 5000 4000 4000 3000 3000
ERABINGEER n,, rpm 1 3~200 10000 8000 8000 6000 6000
RS PO arcmin 1 3~20 - <2 <2 <2 <2
SRS P1 arcmin 1 3~20 <4 <4 <4 <4 <4
RS BR P2 arcmin 1 3~20 <6 <6 <6 <6 <6
HEERITE Nmy/arcmin 1 3~200 7 14 25 50 145
BFRAS N 1 3~200 1530 3250 6700 9400 14500
FHIEA Fyy, N 1 3~200 630 1300 3000 4000 6200
VAT e N 1 3~200 765 1625 3350 4700 7250
FRES hr 1 3~200 20000*
BE N % 1 3~20 >95%
=8 Kg 1 3~20 2.1 \ 6.4 \ 13 \ 245 \ 51
FRRE °C 1 3~200 -10°C~+90°C
s 1 3~200 EpkiEEHiE
PP 1 3~200 IP65
?‘Eﬁﬁrﬁj 1 3~200 F=AE
(”ﬁ'ffﬁofff%"ﬁﬁ ) dB(A) 1 3~200 <63 ‘ <65 ‘ <68 ‘ <70 ‘ <72
B FENEETH B E Moment Of Inertia Of The Reducer
g RE IRIREL
Specifications Node Number Reduction Ratio 060ZBR 090ZBR 1152BR 1422BR 180ZBR
3~10 0.35 2.25 6.84 23.4 68.9
IRE J, Kg-cm’ 1 14 0.07 1.87 6.25 21.8 65.6
20 0.07 1.87 6.25 21.8 65.6
TIRGEEL(i=N,/N,,) 2 B KNNERITFET 5= 60% of T,y 3L 00rpmAT |, {ERF R imPOMIE,

MELIEE, |, (EF%ER7/910000hrs



P08

R~ (B2, REiELL i=3~20)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~20)

B R <TE& Dimensional Drawing

i Output BN Input
Cs
C3
] -
(&]
2 ©
9 M | 1 M | L2
13 o oC1 D80
| D2 || i L5 L6
. 8 B @ )
8 ! ; ,
“ NN A
sa% o
o Cls 5
O,
ko) N\~ P01 . o
DN 007 ¢D = . ©
L8 ] 4 \/ c7
e -
E D65 (depth)L9
' Hi
Il R~F 3 Dimensional Table [E£7Unit: mm]
R~fSize 060ZBR 090ZBR 115ZBR 142ZBR 180ZBR
D1 70 100 130 165 215
D2 55 6.6 9 1 13
D3 s 16 22 32 40 55
D4 50 80 110 130 160
D5 45 65 95 75 95
D6 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P
D7 80 116 152 185 240
L1 60 90 115 142 180
L2 37 48 65 97 105
L3 7 10 12 15 20
L4 15 15 2 3 3
L5 25 32 40 63 70
L6 2 3 5 5 6
L7 6 8 10 12 15
L8 145 203 259 333 394
L9 12,5 19 28 36 42
c1* 70 100 130 165 215
c2' M5x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
c3* *<14/<16 <19/<24 <32 <38 <48
ca' 30 40 50 60 85
C5' e 50 80 110 130 180
c6' 8 4 5 6 6
c7t 60 90 115 142 190
cs' 19 17 19.5 225 29
c9' 115 152.5 1915 235.5 3035
c10' 13.5 10.75 13 15 20.75
B1 5 6 10 12 16
H1 18 245 35 43 59

*070ZBR 5,10 JRiELIRMLC3< 167 ik,



ZEZRFURLE
ZE SERIES GEAR BOX

M 2J#RE Sectional Drawing

B E5S. YEIRRBEEE Type And Model Number

@ #uHH%H Output shaft

@ jHET Oil seal

@ HiH4HAETiMA Output shaft front bearing
@ 1TE%L Planetary gear

® ABE% Solar wheel

® i#EHHE Full needle bearing

@ Wiz Front cover

1AM/ 4M7K Output shaft rear bearing
© iHEY Oil seal

@ BX$AES Coupling

@ BHEIR Lock ring

@ 52 Rear cover

ZEIF3EEA, ZE Reducers

{ZIRREBH, Servo Motor

090 ZE 20 () (S1)
@ @ @ @ 6

- 750 [
® @

TRIEAEES: 090 E4RTIP10

Gear head frame size: 090, (P10)

@ HIENRIIRS: ZE

Gear head series code: ZE

@ EEEL: 20 BRIIP10

Gear Ratio: Single Stage 20, (P10)

@ FEE BP0
TVERIP2(ERE) BEEIP BIEETLP0
iR R AR AR £ 5%ATHIE

Amount of backlash, (P10)
Standard type P2 (Omission), precision P1, high precision PO
Precision (The load of output shaft is +5% of allowable output torque)

®  BNHEE
S1: TEHIEIASIR (ST
(RICEIAREERIEHRIER , (8D FEAERA)
S2: TRE SR (MAHTE)
A: BftiERCRR (5 S AN EIBKER)

Input shaft type
S1: Locking with locking ring (Omission)
(Regardless whether the motor with keyway can use it. But “D” cut can'tuse)
S2: Locking with keyway (Input shaft with key)
A: Other type (Please contact with us)

® ERERDAIIEW)

Applicable servo motor power (W)

@ ARSRES

Model of servo motor

P09



LG ]
PRODUCT SPECIFICATIONS

I REM EEEEEL Reducer Performance Data

& RE VERELnd
Specifications Node Number Reduction Ratio Uz e 2 Jie At e
3 55 130 208 342 588 1140
50 140 290 542 1050 1700
5 60 160 330 650 1200 2000
1 6 55 150 310 600 1100 1900
7 50 140 300 550 1100 1800
8 45 120 260 500 1000 1600
9 40 100 230 450 900 1500
10 40 100 230 450 900 1500
15 55 130 208 342 588 1140
20 50 140 290 542 1050 1700
BERH IR T, Nm 25 60 160 330 650 1200 2000
30 55 150 310 600 1100 1900
35 50 140 300 550 1100 1800
40 45 120 260 500 1000 1600
2 45 40 100 230 450 900 1500
50 60 160 330 650 1200 2000
60 55 150 310 600 1100 1900
70 50 140 300 550 1100 1800
80 45 120 260 500 1000 1600
90 40 100 230 450 900 1500
100 40 100 230 450 900 1500
BEmEET,, Nm 1,2 3~100 MR e
BUERINFRIE n,, rpm 1,2 3~100 5000 4000 4000 3000 3000 3000
BEAMINEG®E N, pm 1,2 3~100 10000 8000 8000 6000 6000 4000
S . 1 3~10 <8 <8 <8 <8 <8 <8
RS E aremin 2 15~100 <12 <12 <12 <12 <12 <12
AEERIME Nmy/arcmin 1,2 3~100 7 14 25 50 145 225
SERAAF,, N 1,2 3~100 1377 2985 6100 8460 13050 8700
A F N 1,2 3~100 765 1625 3350 4700 7250 18000
(Edisbea) hr 1,2 3~100 20000*
. N 1 3~10 >97%
S N % 2 15100 >94%
== K 1 3~10 14 | 33 [ 69 | 13 [ 31 [ 53
= g 2 15~100 16 | 41 | 81 | 17 | 3 ] 66
FRRE °C 1,2 3~100 -10°C~+90°C
HEhz) 1,2 3~100 BRkiEE AR
— PP 1,2 3~100 IP65
P10 REFM 1,2 3~100 EFEAH
==, =
("ffﬁoffﬁ%“ﬁzﬁ ) dB(A) 1,2 3~100 <58 ‘ <60 ‘ <63 ‘ <65 ‘ <67 ‘ <70
B REN TN IRE Moment Of Inertia Of The Reducer
& RE VERESRd
Specifications Node Number Reduction Ratio Uz L JaizE JaEe Az e
3 0.16 0.61 3.25 9.21 28.98 69.61
0.14 0.48 2.74 7.54 23.67 54.37
5 0.13 0.47 2.71 7.42 23.29 53.27
1 6 0.13 0.45 2.65 7.25 22.75 51.72
7 0.13 0.45 2.62 7.14 22.48 50.97
8 0.13 0.44 2.58 7.07 22.59 50.84
9 0.13 0.44 257 7.04 2253 50.63
10 0.13 0.44 2.57 7.03 2251 50.56
15 0.03 0.13 0.47 2.1 7.42 23.29
20 0.03 0.13 0.47 2.71 7.42 23.29
HRE J, Kg-cm’ 25 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.13 0.47 2.71 7.42 23.29
40 0.03 0.13 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.13 0.44 2.57 7.03 2251
60 0.03 0.13 0.44 257 7.03 22.51
70 0.03 0.13 0.44 2.57 7.03 2251
80 0.03 0.13 0.44 257 7.03 22.51
90 0.03 0.13 0.44 2.57 7.03 2251
100 0.03 0.13 0.44 2.57 7.03 22.51
TIRERLL(i=N,/N,,,) 2. B A NNEFIFET ,,=60% of T, 3L 00rpmAT |, {ERTF MM OIS,

*ELEE |, % /910000hrs



R~ (824, miELL i=3~10)

DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B R < B Dimensional Drawing

i Output I Input
co
Ls 12
D23%(depth)L7 L1 L3
X}
5 L6
sls ‘ Tere oo
23 +---1E=l2|g 55
oo 18
C6
c4
2‘ _
z D53 (depth)L9
d
|
Hi
Il R <} % Dimensional Table [ 2Unit: mm]
R<fSize 070ZE 090ZE 120ZE 1652E 2052E 2357E
D1 62 80 108 140 184 210
D2 M5x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P M16x2P
D3 16 22 32 40 55 75
Déw 52 68 %0 120 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 70 104 130 162 205 260
07 70 0 120 155 205 235
L 315 36 50 - 70
2 36 46 70 97 100 126
13 6 8 17 15 15 18
L4 28 36 51 79 82 105
L5 25 32 40 70 70 %0
L6 2 3 5 4 6 7
X 10 12 16 20 22 28
L8 665 80 9.5 1195 154 175.5
L9 12.5 19 28 36 42 42
cl 70 100 130 165 215 235
c2 M5 0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P M12x1.75P
c3 “<14/<16 <19/<24 <32 <35/<38 <42/<48 <55
c4 35 405 51 60 85 116
C5 50 80 110 130 180 200
C6 8 4 5 6 6 6
7 60 90 115 142 190 220
cs 195 175 20 225 29 63
co 1 1435 1865 239 288 364.5
Blw 5 6 10 12 16 20
H1 18 245 35 43 59 795

*070ZE 5,10 LR HC3 <1671,

P11



R~ (7%, /&Lt i=15~100)
DIMENSIONS (DOUBLR, REDUCTION RATIO i=15~100)

Il R <FE& Dimensional Drawing

i Output BN Input
c9
c8 L8 L2
L1 L3
0c7
—— 4 :
Js ot =N
g8 LR N
(Rt 818 &%
L} 0 S
c6 42 o
ca
(=]
= D53(depth)L9
i
H1
Il R~J 3 Dimensional Table [E£7Unit: mm]
R<fSize 090ZE 120ZE 155ZE 2052E 2352E
D1 80 108 140 184 210
D2 M6 x 1P M8x1.25P M10x1.5P M12x1.75P M16x2P
D31 2 32 40 55 75
Dd 68 90 120 160 180
D5 M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
T D6 104 130 162 205 260
D7 90 120 155 205 235
L1 315 36 50 - 70
12 46 70 97 100 126
13 8 17 15 15 18
L4 36 51 79 82 105
L5 32 40 63 70 90
L6 3 5 5 6 7
L7 12 16 20 22 28
L8 118 138 169.5 207.5 246
L9 19 28 36 42 42
c1 70 100 130 165 215
c2 M5 x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
c3 <14/<15.875/<16 <19/<24 <32 <35/<38 <42/<48
ca 35 405 50 60 85
C5 s 50 80 110 130 180
c6 8 4 5 6 6
c7 60 90 115 142 190
c8 195 175 125 225 29
c9 183.5 225.5 2835 335 409
Bl 6 10 12 16 20
H1 245 35 43 59 795




HD 25U iR iEH -7 m iR tE
HD SERIES GEAR BOX - PRODUCT SPECIFICATIONS

M iR E Sectional Drawing

@ W% Output shaft @ SHEIRE Lock nut

@ £ 0il seal J&2 Rear cover

® HyH4MaT4HE& Output shaft front bearing ® APHE Solar wheel

@ 1TE4 Planetary gear @ B1{4%28 Locking device

® iZ=MA Flange inner tooth @ [FE=HH Rear cover gasket

® MR Output shaft rear bearing

B REMN EEEEEL Reducer Performance Data

& RE VERELRd
Specifications Node Number Reduction Ratio A A A Az Az
4 48 130 270 560 1100
: 5 60 160 330 650 1200
7 50 140 300 550 1100
10 40 100 230 450 900
20 48 130 270 560 1100
BUERIEE T, Nm 25 60 160 330 650 1200
35 50 140 300 550 1100
2 40 48 130 270 560 1100
50 60 160 330 650 1200
70 50 140 300 550 1100
100 40 100 230 450 900
SMSHHIE T, Nm 1,2 4~100 MEERERIE 5
BENELE n,, pm 1,2 4~100 5000 4000 4000 3000 3000
BABNEEE N, rpm 1,2 4~100 10000 8000 8000 6000 6000
BIEZEFEREEE PO | arcmin ; 1::}30 = 5_1 i; 2; 2;
y s ) 1 4~10 <3 <3 <3 <3 <3
TBEEREISE P1 arcmin 2 15~100 <5 <5 <5 <5 <5
L e e —— e — : : : :
FREERIME Nm/arcmin 1,2 4~100 13 31 82 151 440
BATHIIIME M, Nm 1,2 4~100 125 235 430 1300 3064
YA F,y N 1,2 4~100 1050 2850 2990 10590 16660
RS hr 1,2 4~100 20000*
st o 1 4~10 >97%
B % 2 15~100 >94%
1 4~10 1.2 3.0 5.6 11.9 31.6
BB Kg P 15~100 1.6 37 73 15.9 36.9
15~100 1.4 35 6.5 15.5 345
FRRE °C 1,2 4~100 -10°C~+90°C
g 1,2 4~100 SRR HAE (NYOGEL 792D)
FAIPEER 1,2 4~100 IP65
TEEFHH 1,2 4~100 EEHEHE
2z, =3
(ufﬁf?ﬁgiﬁ,%ﬁﬁiﬁ | Bl 12 4~100 <58 <60 <63 ‘ <65 <67
B REN ST IR E Moment Of Inertia Of The Reducer
Hg RE IHIEREL
Specifications Node Number Reduction Ratio L Az i AL Az
4 0.14 0.51 2.87 7.54 25.03
: 5 0.13 0.47 2.71 7.42 23.29
7 0.13 0.45 2.62 7.14 22.48
10 0.13 0.44 2.57 7.03 2251
20 0.03 0.13 0.47 2.1 7.42
BiigE J, Kg-cm® 25 0.03 0.13 0.47 2.71 7.42
35 0.03 0.13 0.47 2.1 7.42
2 40 0.03 0.13 0.44 2.57 7.03
50 0.03 0.13 0.44 2.57 7.03
70 0.03 0.13 0.44 2.57 7.03
100 0.03 0.13 0.44 2.57 7.03
TIREREL(i=N,/N,,) 2 B KNNERFTFET 5= 60% of T,y 3 EEE00rpmAT , YERF @ iR OAIE,

MELLIERE |, (£ AR 7/910000hrs



R (884, /&L i=4~10)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=4~10)

B R <F'E& Dimensional Drawing

i Output I Input
®D8h7;R(depth)L9 B
_._L1ioxas°
sl 2 gz Mzzez
&5 & 98 IBEEEE
(@)
i ul s ]
c8 L6 L3
c4 | L8 L4
c9
B R~J%& Dimensional Table [B{&Unit: mm]

R Size HDOB4 HD090 HD110 HD140 HD200
D1w 20 315 40 50 80
D2 315 50 63 80 125
D3w 40 63 80 100 160
D4 v 64 90 110 140 200
D5 79 109 135 168 233
D6 7xM5x0.8P 7xM6x1P 1M xM6x1P 11xM8x1.25P 11xM10x1.5P
D7 86 118 145 179 247
D8 w 5 6 6 8 10
D9 55 77 90 13 138
D10 8x4.5 8x5.5 8x5.5 12x6.6 12x9
D11 w 70 95 120 152 212
D12 63.2 89.2 109.2 139.2 199.2
L1 8 12 12 12 16
L2 8 135 13.5 17 225
L3 3 6 6 9 8
L4 19.5 30 29 38 50
L5 7 10 10 14.6 15
L6 4 7 8 10 12
L7 7.7 8 10 12 15
L8 28.5 27 37 62 69.5
L9 6 7 7 7 10
L10 05 1 1 1 1
ct 70 100 130 165 215
c2' M5x0.8P M6x1P M8x1.25P M10x1.5P M12x1.75P
c3' *<14/<16 <19/<24 <32 <38 <48
c4' 34 40 50 60 85
C5° e 50 80 110 130 180
c6' 8 4 5 9 6
c7' 60 90 115 142 190
cs* 19 17 19.5 225 29
ce’ 82.5 99.5 1215 151 199.5
c1o’ 135 10.75 13 15 20.75
0D 66x2 90x3 110x3 145%3 200x5

*HDO060 5,10 JEERECIRHC3 <1671k,



R~ (A%, /i i=20~100)
DIMENSIONS (DOUBLE, REDUCTION RATIO i=20~100)

Il R <T& Dimensional Drawing

8 Output

N Input

®D8h7;%R(depth)L9 -
. L10xas°
ol = = Y = % Bl '.::'_
& s 8 115588
Q_i]» s |
c8 L6 L3
ca L8 L4
c9
B R~J%& Dimensional Table [B{7Unit: mm]

R Size HDO64 HD00 HD110 HD140 HD200
D1w 20 315 40 50 80
D2 315 50 63 80 125
D3w 40 63 80 100 160
D4 v 64 90 110 140 200
D5 79 109 135 168 233
D6 7xM5x0.8P 7xM6x1P 11xM6x1P 11xM8x1.25P 11xM10x1.5P
D7 86 118 145 179 247
D8 w 5 6 6 8 10
D9 455 53.4 77 102 125
D10 8x4.5 8x5.5 8x5.5 12x6.6 12x9
D11 w 70 95 120 152 212
D12 63.2 89.2 109.2 139.2 199.2
L1 8 12 12 12 16
L2 8 135 135 17 225
L3 3 6 6 6 8
L4 19.5 30 29 38 50
L5 7 10 10 14.6 15
L6 4 7 8 10 12
L7 7.7 8 10 12 15
L8 65 60 87.5 110 132.5
L9 6 7 7 7 10
L10 0.5 1 1 1 1
c1° 46 70 100 130 165
c2’ M4x0.7P M5x0.8P M6x 1P M8x1.25P M10x1.5P
Cc3° *<11/212 <14/<15.875/<16 <19/<24 <32 <38
c4° 30 34 40 50 60
C5° 30 50 80 110 130
C6’ 35 8 4 5 6
c7° 48 60 90 115 142
[%: 195 19 17 19.5 225
o’ 108 134 160 204 248
c10° 13.25 135 10.75 13 15
0D 66x2 90%3 110x3 145x3 200x5

*HDO060 5,10 s ELIRHC3< 167 15k,




£
ASSEMBLY

W REDAR9EE Assembly Procedure

BFBETREARDAR |, BRUTRWHTRE. ARDENRISMESHE , RISENTmI , BEDAFTRSTEERE= , B, —E2ERAE
T ERRHEERIDIX.

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo motor is attached has different dimensions
based on the motor specified .Therefore,assembly may be impossible for some motor.Make sure the correct motor is specified before ordering the reducer.

1. REFTHEDIX Spec. In Case Of Assembling A Motor Without Key L4 ZBIZE§§H7T‘E_ )
ZB/ZE Series Schematic Diagram

OIFEEERET | N | e ETIZETNFME, FHIAEERISEMTT.
Take off the rubber cap, turn the input shaft, and match the head of the bolt to the hole of the rubber
cap. Make sure that the set bolt is loosened.

QBT AR L (BRRAZIEEIMAREN ) . BROTEAELDA
IREHEN.

Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in without iam.) Be
careful not to be inserted with the motor tilted.

ORDIXEEEREL , FHUEEHHERIZINITE, (B%XK)

Attach the motor to the reducer and fasten the bolt with designated fastening torque. (See table 1)

> G@EFREHAERFEIR | RESENHESRMNENEEEITR. (55X @
®) Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. (See table 2) ® B
% OIT EREIRE], AREIER. ] ]
=z Puton a rubber cap. It is the end of assembling. !
93] [—] @ [ ]
: — I
I
® =1 Tablel 1 s gﬁ
Z4H%E Fastening Torque
LLAEEZEFE Motor Combination Bolt PRI L
(N-m) (kgf-cm)
M3 1.0 10 _!
M4 3.0 30
M5 5.8 60 i P—
M6 9.8 100
M8 19.6 200 o —
M10 39.2 400 S
M12 68.6 700
M16 168 1650

® 382 Table2
EE124E Combination Bolt F7RHHIS Fastening Torgue
(N-m) (kgf-cm)

M3 15 15
M4 3.5 85
M5 71 Al
M6 12 120
M8 30 300
M10 60 612

HREXDANENTRE , MR EATR DA —HRE. THELSBH.

You can assemble the motor with keyway like above when take off the key. There is no risk of dislocation.



iy

Tk

ASSEMBLY

W EEL B3 Peducer Assembly

KRR ZREIRE LA, EEMATREHERLTERNSR , ERIERFSTRISEENRERZISSEEE. (55X

Jointing with reducerln case of jointing a reducer with the device, make sure that the combining side is plane without inconsistency, and when assemble reducer outo

equipment, ensuring assembly surface smooth and without burr. (See table 3)

® %3 Table 3
AR EEM2E Reducer Combination Bolt FT SIS Fastening Torque
(N-m) (kgf-cm)

M5 5.80 60
M6 9.80 100
M8 19.6 200
M10 39.2 400
M12 68.6 700
M16 16.8 1650

;%3556 %k Connection To The Output Shaft

JEEZETA Cautions:
1. R EREEHEaEE. BREN | B2ER S RIS RAYHR .

N
;

S
7

(3]
;

When assemble a coupling, pulley, etc. onto the output shaft,make sure that excessive axial
load not be given to the output shaft.

TBDERRDEEN | LGRS R AR R,

In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer
may be damaged, therefore it shall be prohibited.
REABEBFMIIREBNE AN , TEESEIRERE | TENBERY
R

If the shaft or key of a coupling assembled is loosed, it may cause carbonization, so be careful
when assembling.

REMBOHRE | BEREERERSREEE.

For assembling of a coupling, fix the key with a set bolt.

EEAE RO RGO,

Please adjust shaft centre carefully in connecting.

— 1

L

(TT T

AT19N3SSY

P17



iz {0000 I 32 4 2

PLANETARY GEAR BOX

P18



NY0I1VLVI

™

TRANSMISSION PLANETARY PLANETARY GEAR BOX PLANETARY GEAR BOX
ERBERREBDHI ZDE/ZDF(S)55 ZDR/ZDGF(S)R3)

RS RS EEECEREN

<D MATIE <0 MATIE < MATIE

PLANETARY GEAR BOX CYCLOIDAL PIN WHEEL DRUM MOTOR
e PRECISION REDUCER RS
EEHIRERRSE
<D MATIE <0 MATIE <D MATIE
= ]

www.zd-motor.com »)



< MATIR

PLANETARY GEAR BOX
CATALOGUE

FiRPRDBEREEDRBERLT
NINGBO ZHONGDA LEADER INTELLIGENT TRANSMISSION CO.,LTD.

ik, W IBRESHRAT LT AXFHHK—I81855
Add : NO.185 1st Xinxing Road,New Industrial Zone, Cixi City, Zhejiang, China.

FRRACEEEENREERAE

ZHONGDA CHUANGYUAN PRECISE TRANSMISSION EQUIPMENT CO.,LTD.

ol T ETIRMMER K EZER159S

Add : No.159 Jinci Road, Hangzhou Bay District, Ningbo, Zhejiang, China.

ERESES:

E3iE. 0574-63537377
fEE; 0574-63534879
E-mail: china@zd-motor.com

EfFESRS:

International trade department:

Tel: 86-574-63530538 Fax: 86-574-63534879
E-mail: manager@zd-motor.com

E-mail: trade@zd-motor.com

EZIFE, SiEE:

www.zd—motor.com

B RAREE R, BABTEM.

Any changes in product contents without notice.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

